Tableaux des Puissances de Dix (H)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 10 000 0,1 100 1 000
8,46 0,000846 84,6 0,0846 0,00846
9,88 0,000988 98,8 0,0988 0,00988
3,66 0,000366 36,6 0,0366 0,00366
5,99 0,000599 59,9 0,0599 0,00599
7,19 0,000719 71,9 0,0719 0,00719

+ 10 000 0,01 1 000 0,1
8,81 0,000881 881 0,00881 88,1
9,38 0,000938 938 0,00938 93,8
6,86 0,000686 686 0,00686 68,6
3,49 0,000349 349 0,00349 34,9
5,17 0,000517 517 0,00517 51,7

+ 0,1 100 0,0001 1000
3,04 30,4 0,0304 30 400 0,00304
4,43 44,3 0,0443 44 300 0,00443
5,07 50,7 0,0507 50700 0,00507
8,75 87,5 0,0875 87 500 0,00875
6,42 64,2 0,0642 64 200 0,00642

+ 10 10 000 0,01 1 000
4,36 0,436 0,000436 436 0,00436
1,73 0,173 0,000173 173 0,00173

3 0,3 0,0003 300 0,003
6,11 0,611 0,000611 611 0,00611
9,11 0,911 0,000911 911 0,00911
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